Db-Killer N.62
Co0d.3014259801

29
1%
= =Nax
(N

o

Yo}

I +0,3

3 g ||l o
|

Oug o ! 33+0,2
| 77 | 1 ©393-0,1
S.s. support ~ S.s.Flange - s .
-3 .s. Bushing
c0d.207026 Cod.206443 Cod.206442
LV ONE EVO silencer RHS
stainless steel black i
Cod.3014340485U BIKE'S FRAME S.s bushing

cod.206442\%
2x Knurled collar nufj S.s flange

M8 Cod.200298 Cc0d.206443

Aluminium spacer
230x@28.5 L20
Cod. 201689

S.s. bracket
Prod.cod.3014390501
Purch.cod.207025

OPTIONAL

Knurled collar nut M4 cod.5684
Cod.200333

\Knurled collar nut M5

Cod.204407

Plain washer @ 8x @ 24
Cod.200321

Carbon clamp FM5SH
Cod.3014149501

3x Short helical
spring tensile

T.B.E.l. screw M5X12

Cod.201031 cod. 303949001 cod. 3014390201
éI(L)J(rjlnlggJ4rgzs]pocer Allen screw M8X45
- Pipe s.s T.C.E.l.Z.B.
cod. 3014390205 Cod.201450

Allen screw M8X40
T.C.E.l. Z.B.
Cod.200993

ART. 14390EBU

HONDA CB 125 R Neo Sports Café

FULL SYSTEM - LV ONE EVO - BLACK



	DT-14390EB
	Vista del disegno25
	Vista del disegno26
	Vista del disegno27
	Vista del disegno28


